REMEDET T — X

REATR FHENEZ KIBERDIREME = HEFMINEER 176 R &R DIREMAS

T—21 250 /5 #EAf D BERIRR B EAMk D 40% (1, 414, 445, 600 [7)
T—2R2 375 /& AT D & R4l C o> BERIRR B EAM D 60% (2, 121, 668, 400 [1)
T—2X3 500 /5 At C BERIR RS E Ak D 80% (2, 828, 891, 200 [1)
T—2R4 625 AL PTG C & 3FA B o> [ HESEAM# (3,536, 114,000 1)

T—25 750 AL A B BERIER S E A% D 120% (4, 243, 336, 800 )
T—2R6 875 s AN B & FEAT A D HrE] RERIER S E Ak D 140% (4, 950, 559, 600 1)
T—2R7 1, 000 /5 R A (i) BERIER S E A D 160% (5,657, 782, 400 [1)




